Word Problems

1) If Tinker Bell had 55 fairy friends but 9 were slegping, how many fairy friends were awake?

2) Buzz Lightyear has 63 laser beams, but he needs 96 to defeat Zurg. How many more laser
beams does he need?

3) Mickey Mouse has 6 balloons, but he needs 94 to decorate his birthday party. How many
more balloons does he need?

4) Ariel had 35 seashells but gave 34 to her sister. How many seashells does she have left?

5) If Goofy had 92 balloons but accidentally popped 65, how many balloons does he have left?

6) Mulan has 3 swords, but she needs 78 for her army. How many more swords does she need to
equip her army?

7) Minions have gathered 10 bananas, but they want to have 46 to make banana bread. How
many more bananas do they need?



8) Woody had 24 toys but gave 4 to Jessie. How many toys does Woody have now?

9) If Spongebob had 28 Krabby Patties but Gary meowed for 21, how many Krabby Peatties does
Spongebob have |eft?

10) If Sonic had 16 rings but lost 10, how many rings does he have left?

11) Elsa has 8 ice crystals, but she needs 21 to make a snow castle. How many moreice crystals
does she need?

12) If Mickey Mouse has 19 apples and eats 8, how many apples does he have | eft?

13) Mickey has 4 balloons, but he needs 33 for his party. How many more balloons does he
need?

14) Donald Duck had 35 feathers but lost 30 in the pond. How many feathers does Donald Duck
have left?

Answers: 46, 33, 88, 1, 27, 75, 36, 20, 7, 6, 13, 11, 29, 5
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